BB TH 2R3 Wamsrren] NAME
lJ
| on P |
" ” BIEADOFRE—D !
&0k / B |
A8~ X Baoa—2A i Lol o D sE—A
@ 8ax(—17b) D 2a2x(—a?) @ (—3ap @ 3a*x(—2by
" : '2
B — Iy e = 3%« 4b
= =203 = Iy n2h2
@ (—2m)x(—9n) @ axbab? 7 A 6
Q ~px)a @ (—ap ©@ 4%y x(—2x%)?°
= /8mn = I g L2 . Nea2)
= =4l x (=82°)
n 3 )
® (—5a)x3bc @ —x%yXx3xy = =ik - _.9)14'9(
= AN A{\/ = .’)7';6{2 AN {53 A 0 O \D
NS uy SA= o @ (—2xp (6)] m= X{zmn)
® Sixey @ —abx6abe = =-m*x4in’n*
4 33 3
Q I = -8xXY = —ymin
= _;:Z.'; =m0 L
@ (—x)2 @ (—xHyPx(—392)
® —ax(—8b) ® —6x2yx 3x2y
= ‘ == 7(4g’x( ~J2iP)
= 9ah = — /Q,z4~/2 I 4l Ao _
ouy o = 7~ 0 = ’j,z’.sg;’.
® (—T)X(—4) ® —Tabc*x6bc ® (—mmdP ® 4a2bx(—2b2)?
& - Bbwa o 5 B _ —Anthx 4 h4
= 5‘ (j = 4 0 (/ = T v W
g S A g
= m rL = p?
@ (—9a)x8b @ (—4mn2)x 9m2n /é&b
o o ® (+a2b?)? B (—3x2)2X(—2y?)
= ~J24b = ~3m3nr A 3
= = Qrix(-2%4)
5 ,
§x><12y ® —xy2><‘8x3y e &4bé = -/9145{’-
P < - ')D s 3 _ )
= “‘77 P = 3-/5 [’ @ (—3x3y) @ (—4%)PX(—x?®)
7 ! }
® gabx(—%c) ©) gabe(~%a3b3) =[-3 x’q)XHZg x(—37(ﬁ) XL -2Y)
/ > / A~
& .l IS = 9as3 -85
= —Eabt/ = ~:§a,2)‘; )77l y y
3/ 5/ RV (=mn2p Epxys
e R wy : >
r el , _ X 3
- —fayz = -3z Lt - -ﬂ;ﬁ
23 2S 1. 3/ . _ _ 24
@ a—q{zx(—gg) @ .6\'gn><( 5mn) ) 1"“‘-? .
/ 4 — 2h8 St [ — )2
ii .“J 3\/ 5 / 7 7 g5l Lu_ﬁ_u,;z mm?.\ 2 /-'z\-A \Al'\
) ——axX(——bc) @ ——za*hX—_—-ab? = ,/Cn¥)¢ =3 ALV ATV )
Tb'{/ 3 3 105 MS T;L*u Ve e v o/ /
L o~ _ 7 %3 s = = = iw4~n4
= 2anles, SRS o & A
/2 LA g ’ / e e l:}



